Section 10.5

1. For the [ollowing power series. find the radins and
interval of convergence.

v

g

nlen
3?3

o a

For ¥he power sefweg 3 Ca(x-a)
0 nu?’ N
we wank o Fnd Hhe wierval of

convergente. = Hhe whesval that
contains all values of x For

vhe cenker of  Hhe geries

which Yhe genes Conver €S,
denoktd by T,

case. \: L= {ag
case, a: Tz (-%,°0)

case 32 Tz (a-R a+ R)
R. radws oF Conves §ents,

mugt also Yest WMVA‘,‘S ":M
Convelgente,

~

e
a-R & ax*R
Section 10.5

L. For the following power series, find the radins and
interval of convergence.
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Section 10.6

4. Express the ollowing functions as a power series.
Identity the radins and interval of convergenece.
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